OCTOBER 2011 U/ID 31602/UCHB

Time : Three hours Maximum : 100 marks
SECTION A — (40 x 1 = 40 marks)

Answer ALL the questions.

Choose the correct answer :

1.  Which of the following is not a characteristic feature of a
developed area?

(a) Use of mechanical power (b) More people engaged in
secondary and tertiary occupations (c) Large number of
industrial and commercial towns (d) Large potential resources

eueTTEFS WL bS BT (H&@hésTem LianTLsefle) G)erevrs eeimm)
(@) Qupdly sadudlen LwerLT®h (<) @Qrewimd Hlene LHMID
gperorid  Hlevew  GasmPeasatier waseflen  FEUTH (@) <ds
Qamlhareney LHMILD eurenfll BSIEISGET (FF) 2 6TaTTTHS GUeETHISET

2. the total amount of fresh water resources in the world is
(a) 2.8% (b) 3.5% (c) 28% (d) 30%
2 e srenTILHID HesanT euer el LD

(1) 2.8% (<=3) 3.5% (@) 28% () 30%

3.  The shifting cultivators mainly grow

(a) Rice and Wheat (b) Yams, Tapioca and Hill paddy (c) Potato,
Maize and Vegetables (d) Tobacco, Potato and Fruits

@Lwrhm efleugruiger Gumweraied LwfHoug
(<) Qped HmID Cargiano (<) Caamens Sipmis, , wreuetafls Elipmki@
LHMID Wwee @B (@) 2 (mener , WEETEFCFTETD OHMILD STUISMHSET
(FF) Yensullened , 2 (Hener LoMMILD LILDTEISET

4.  Which of the following is not associated with rice processing?
(a) threshing (b) prunning (c) winnowing (d) milling
<MA 2 pusHujLem QgrLmlerers Qaiiipenp

(=) sdrgssed () Smersmer Goul (Hsa (@) yeoLsse
() Aevpsse



The only crop which can resist very cold climate and can be
grown beyond the Arctic Circle is

(a) Wheat (b) Beet Sugar (c) Barley (d) Onions

Epeumeuaeupmer erps LT ofls  @efloryd s @Tgs
QUL MG SILILITE eUaTT&HgnlqLig)?

(=1) Cargleow (=) srsgsempeudafl (@) uried () Cleumismwd

Tea cultivation needs slopy land. Why?

(a) Soil absorbs moisture (b) The water accumulates near the
roots of the plants (c) It is very easy for irrigation purposes
(d) The water is unable to accumulate near the roots

Caullenev sm@ . Qg sfleurer e Cseneu. erblaele

() war FFLLSSMS 2 MEpaHDd (=) sreursHer GeoumlingdHuder B
Gemb (@) pruursensdn@ gong () sreursder Courin@dude Bir
Carmoed @)(H@LD

The coffee estate, Known as Fazendas in Brazil, presents a good
example of

(a) Terraced cultivation (b) Temperature inversion
(c) Mechanized farming (d) None of these

LNCrHelleb 2 aTer &Yl LIGHTEn T T6 LITEVERTLTEN TS M (&, 2 STFewTD?
(@) ugssl(@® efeusmwud (=) OGeulug somoS) LIHHD

(@) Qupdlrrigmery uvweL@®SS edeusmud  (F)  @eundléd
eTgIeLSlLEmEn

Which is a mining city?

(a) Oxford (b) Singapore (c) Kalgoorlie (d) Islamabad

CTE| &IHIG HSHTLD

(1) dBeGUTTL () Alsliyi (@) sTegmied (FF) @evemor L
The main areas where goats are reared are the following except
(a) North Africa (b) Central Asia (c) India (d) Denmark
EpeumeuaTeuDMIET 6Tbg BT ig.d CeudrarT(hseT euaTidEsLiL(heuddene?
(o) ade pssr (<) wEHu PHur  (Q) QbHwr

() QLesonié
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10.

11.

12.

13.

14.

15.

has the largest goat population in the world.
(a) India (b) China (c) Ethiopia (d) Sudan

Brllged Ceuarerm(hsaiian WEETOFSTMNS NS HOTHS
srenTliL(hE g
(1) @b (=) Farr (@) erdHCuminQwim (/) @Lmeir

Which of the following process is not used for preserving the
hides and skin of the animals?

(a) Drying (b) Salting (c) Fanning (d) Grounding

clloomigsafler Came LgsLILHSHSCTH GsTLTGdens et

(=1) &M meudsed () 2LlHse (Q) usalBs (F) samrsl(hoe
Which of the following fish is not a pelagic fish?

(a) Herring (b) Haddock (c) Mackerel (d) Sardines
Epau(meuaTeLHMIET 678l SLedlem < pLLIGH G srarTliLBLD Wer e ?
(1) Qanifii (=) CanLré (@) Coésyed (/) sriamLere

Most of the world’s coal deposits are

(a) Peat  (b)Bituminous (c) Lignite (d) Anthracite
2 dle 2F&Hss sTanriLHID Hlesst Lig b

(1) 5 (=) G Glaad (@) éevent () pembsranst
Availability of what will be the guarantee for successful mining
(a) limestone  (b) Water (¢c) Power  (d) Cheap labour
&g Geuamavds@ WEe|b gHwmeudlwinrer Csamel

(o) samemmdy (<) B (@) Waresd (F) Geopps eafu
Qg memeriraer

Which of the following mining is more expensive?

(a) Open-cast mining (b) Quarrying mining (¢) Underground
mining (d) None of these.

EpeumeuaTeudmIeT 6T SiFs QFe|am W &IhIS (LPEHUITEGLD?
(2Ndnps Gaafl ep () @aurfl eoep (Q) Hlwdsy srms Wwep

(/F) @eubmIeT eTgieilebenaw
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16.

17.

18.

19.

20.

21.

Which of the following minerals are non ferrous?

(@) Cuand N1 (b) Mn and Fe (c) Ag and Pb (d) Cu and Zn
ELpeu(meuaTeLDMIET 6Teneu @) (HLOL| FTIT Sl LOBIGET?

(o) Cuand Ni (<) Mn and Fe (@) Ag and Pb () Cu and Zn
The name of the canal which links Pacific and Atlantic Ocean is
(a)Panama (b) Suez (c) Kiel (d) None of these
LSS HMID L OTEGE OlLIHRISLOSMET @)EnaTs @LD &Tedeu T
(<) Lammon (<) @wied (@) &b () audpin argiayHldme

The biggest lake of fresh water in the world is

(a) Baikal lake (b) Superior lake (c) Nyasa lake
(d) Victoria lake

2 edlar WsLiIGufw perat el

(@) eussted BT (<) &OSAwT el (@) Surevr el
() eN&CLmilwm grifl

Which one of the following towns is not the railway station of
Canadian Pacific Railway?

(a) Regina (b) Winnipeg (c) San Francisco (d) Vancouver
Epaumd parmsaild sangwer - LGS Gruidurmsuier oW
B&TLD 6TG)?

(<) Qrelenm (=) elena@us (§) snemndgrenslevCsar (/) curengneu
Which is the biggest port of Argentina?

(a) Bahia Blanca (b) Buenos Aires (c) La Plato (d) Mar Del Plato
<|TCleneimq emmaflen GLIMW glanmpsLD

(=) uradlumr Germiisr () Guerev Swiren  (§) em erm_GLm
(/) i Qe Germ_GLm

Which part of Africa has the highest population?

(a)Valley of the river Niger (b) Valley of the river Nile (c)Valley
of the river Congo (d) Valley of the river Zambezi

< Ubfssrelen idls &ESET FETans 2 6TeT LIETeTSSTEH®E, UGS
(=) opym (<) b (@) smrGasr (/) grbued
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22.

23.

24.

25.

Population growth in most of the developing countries of Asia is
determined by

(a) Birth rate and migration (b) Migration and death rate
(c) Birth rate, death rate and migration(d) Birth rate and death
rate

g flureilery o 6rer eueTihg U@L BrHidefley STERTULIHD LO&SET

CUATTES GSHTET STTEWTLD

(=) Yply eisb wHmb @QLiuCuwiiey (<) @LUGQUWTe| WHMHID
ooy &z () dpiy eSad @iy eigd wHmb GriEuwiy
() iy alisd wHmIb oy eis

The most common cause of death in the developing countries is

related to

(a) infectious diseases (b) respiratory diseases (c) digestive
system disorder (d) cancer

aueTThglelmd Brhgeafle smerTliLiHb @mUILEETET Ol LIMg)IeUTET STTewTLD
(=) Qamhmy Crriser (=),) seurs Crmiger (@) Cefwrer e o
@@pur® () yHmCHm

Bauxite is used for making

(a) Coal (b) Aluminium (c) Gold (d) Silver

LIT&HEmnaL_ swmflgst weruOHEng.

(<) Bossfl (<) sgdlaiun (§) smsb () Ceudrafl

What is the population density of a District which has 50 lakh
people and 25 thousand Km? area?

(a) 50 persons/ Km?2 (b) 150 persons/ Km?2 (¢) 100 persons/ Km?
(d) 200 persons/ Km?

50 el &b waser Cgrens wHmbd 25 <pullyb ggir §.08 urly Qsmesr
(1 LOMeULL_SS6 D&SHETL_T5S)

(=1) 50 waser/s.8.8 (<) 150 wasdr [ #.48.5 (@) 100 waser/s.8.18
(rr) 200 w&ser/s.4).08
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27.

28.

29.

What do you mean by the term density of population of a
country?

(a) The average number of deaths per annum (b) The average
number of births per annum (c) The average number of people
living in one hectare (d) The average number of people living in
one square kilometer

ESETLTHS cTerLig)

() e® aupLgdlan syrefl @i () @@ auGLgSlar symef Gpliy
(@) srreflung e HansCLT Lrlbd uslsEh WwaseT ereamamilsms
(/) egrefluns o ggy HCor BLLT urlded G Wwéser
GTETOT GO0 SN G.

Brain drain has been caused by

(a) the lure of high living standards (b) failure to recognize
talent in the originating country (c)lack of employment
opportunities  (d) socio-economic instability

EPENETE FHTGUTL_6) GIMHLIL & SHTTEwTD

(@) 2wibs eunpsmassrsen Wamear eufasrbd (=) Q&mbs B ige
Spenws@ wdlbeaemn (@) Coueme eumilibenenn  (FF)  Fepsll
QumrmeTTgTy VS TLDHD SevTento

The movement of people from Somalia to Ethiopia was caused by

(a) drought and desertification(b) loss of fertile agricultural land
(c) civil unrest (d) decreasing water availability

Camoredlwmelled (mhs) agHCumiauness, LOG&ET @Libd

QUWIMTESSH&TEE SHITTeNTLD

(1) aupl &l wHmID UrmaeIEILWLLNSED () CFwpeawuirear ebleuFTw
Hasms Qbsg () 2-dmpr@u Cur () Sl uppréEamp
Settlements that are found on the island are often

(a) Clustered settlement (b) Linear settlement (c¢) Dispersed
settlement (d) Circular settlement

Saysafled smewrliLI(BID (&lqudl(BLiLsGaT
(=) Gulws Guuielysda (<) Baaurgs Eyuimuyse
(@) Ssdlws @ulmlyser  (FF) eul L& @&lqull@mriyser
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30.

31.

32.

33.

34.

In areas like Kerala which are liable to floods the type of
settlement is

(a) Dry point settlement (b) Wet point settlement (c¢) Linear
pattern of settlement (d) Nucleated settlement

Qeuerers LglliyG@ererm@d Garerm Curemy LG satled sremrliLHib
&g Ul LI S6T

(@) Breriupy  @quimlgyser (<) Bremmyeaiw  @gulmliyser
(@) Bareun@s GuuiGriseT () o L& J@wbs GuimrLse
Settlements which grow along a road, river or canal for a mile or
more are

(a) Square settlement (b) Rectangular settlement (c) Linear
settlement (d) Nucleated settlement

FTM@, B S DOF HTOUML QDTS GUETTFSI WL &lq-udl(HLiL|EeT
(=) sgiporar  @uiGlusdr ()  Gsdies  GrulmUyse
(@) Baraun@d @uilmLysar () 2 s @b G uilGLisdr
‘Kampung’ is the name given to traditional settlement in

(a) Malaysia (b) Burma (c) Thailand (d) Philippines

‘smbum’ erariu(b urrbuflwé @l ulduLser srarliumib Br@

(<=1) LCAWT (=) ufor (@) sTlorhg () WedlliemLieTen

The term conurbation is used to designate

(a) Large metropolitan areas (b) Built up city areas (c)Name of
a town in the USA (d) Continuously built up area formed by
coalescence of several urban settlements

sanTGLIaYE eTeiTD UTTSEMS &ML (Heug

(o) Quflu  mersl  uEd (<) Hiwrelssiul psrb
(@) w.erav.er.efléd o 6ter e BEID  (FF) QTLrEHuns L BEIS
&AL SET paiflanenhbgl o (Heurer UGS

Who coined the term Megalopolis?

(a) dJean Fredrick (b) P.E. James (¢) J.Gottman
(d) M. Jefferson

‘QusCarureden’ eremn Cameena 2 (HeumsdweuT?

(=) e GrQLMs (<) 19.7.Ceybe (@) Cg.ariwrer

(FF) 6TLD.gQ Mo oLIT& 60T
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35.

36.

37.

38.

39.

40.

The shape of the roof of a house depends on

(a) Nature (b) roof materials (¢) Climate (d) Water

S 651961 En.an SDLOLIL| TS EMTHSEI?

(<=1) Qupens (=) saeppls QUL aser (§) sreblanc (FF) sesrent

A settlement whose name appears early in the record books but
which is no longer inhabited is

(a) Ghost town (b) Lost village  (c) Senile town(d) None of the
above

venpwls  udlCau@seiicr  srewTUL(GEUFID,  SOHFOWLID  WM(HLD
Gl (HESTHFI DT LiGHS

(<=1) G papd (=) Qs STTo (§) pgien Berb () Gaubdld
eTgleLlLEnEn

Which of the following ports is not situated at Pacific coast?

(a) Vancouver (b) Los Angeles (c) San Francisco (d) Miami
LSS SLDHETUdlL DHEPDWITS FHIEnMLPSLD

(1) eumamdneum () @mev egEpgev (@) grer pTandlevGam

(FF) Wl

Which airport is not situated at New York — Tokyo air route?
(a) London (b) Paris (c) Panama  (d) Rome

Bluywris - CLmssCur ellwrer eufssL 8l ehg edlrer Bleapewibd
SlnobHI (HEseN0ame

(1) evadrLei (<=,) umflav (§)) uesrmomr (/) Cpmbd

Which is the busiest navigable river?

(a) Volga (b) Sein (c) Danube (d) Rhine

<igls Bireu il Curd@eurggl peLGumd pS

(1) aumdsT (<) &ar (@) Lmamts () enyen

Which country imports iron ore most?

(a) Germany (b) France (c) Japan (d) Sweden
@S srgianel AFsD @m&ELS Geub B

(=) Qegiroafl (<4) Armetrev (@) sgliuimenr (i) GelLer
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42.

43.

44.

45.

46.

47.

48.

SECTION B — (5 x 4 = 20 marks)
Answer any FIVE questions.

All questions carry equal marks.

Briefly write about the scope and content of Economic

Geography.
Qumrmerrgmrl yellufweder Crrésd wHmb CUTmTLESD GNSs)
efleurl.

Enumerate the geographical conditions required for Wheat

cultivation.

Camglenid sT@UIGEGS Coeamaiwmen LjeSullwd @pane allemdds.
Describe the major fishing grounds of the world.

2 e (&l LeLigSsovmigamer LiHM aflaufl.

What are the important waterways of the world?

2 adlar (pslw BreuflliLmengser wreneu?

Examine the nature of population geography.

&L Lalullwellen semenid @&mMsE <p,rmiis.

What are the types of migration?

@LUCUWTESGeT euensSS6T Wreneu?

Give an account on rural landscape of India.

@usws Aroriyp Guuilnlysaiear simwly Ehss em GsmEuy
&(HS.

Describe the conditions needed for the development of ship

building industry.

sl sL_(H Asmhnsrane alarys Coemeuwinar srrantlsamer ableu.
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50.

51.

SECTION C — (2 x 20 = 40 marks)
Answer any TWO questions.
All questions carry equal marks.

Explain the major forest types of the world.

2 &5 srhsaflan euemsanaris LHm aSleu.

Describe the causes and consequences of migration.
@QLUCUWTESssTan STreaThser WHMD g lamere|sar @SS
cMlemd@s.

Give a detailed account on Nelson's urban classification.

Qpevaaien pariiLm euaasur® undl ellfleirs em Csm@LiL Sms.

10 U/ID 31602/UCHB



